o B ]
5. 13 0 14_.69§‘~'_ 6.450| K10 2.458\KE
~ _;_ S :
a7 +— XTI
i 9 1/300
| 15,71 (D200.15 o
2 60.541F o Z
3> @¥86,000 3 i
@198.81 5,206,000 ]
60.143F £V0,
5 @¥88,000 18.65
~ ¥5.292.000 ”
19.68 ®196.01m
59.293F
. (3195.10n1 I. @¥86,000 3
= 59.015F = ¥5 098,000 :
@¥88’OOO 16. 43 Q K7
¥5 192,000 . 2 <
17.85 R ©9165.06m r 30
49.93%F .
2 > @¥86,000 f5
4197.68m ¥4,293,000 [~
59.793F =
3 @¥88,000 & { 14.82
¥5.261,000
- e 19168.85m
; 6.0! .
5 |6.56 [ ) 5107ﬂ]z ;
~  @¥90,000
; o 58.631F 2
. '%E*f (3 ;4 ® 5 o 7751:"1?-) 3’ @¥927000
— g (35iHh) U ¥5.393.000

HRAIIEERE



B

B

% WM/ av 7 r—bxy LA
FrfEdh iyl 1 1 2 %135 34
2 fET R LR (RIFTHT) N2 E X VS 1

XL, 1 0 X HRFE X% 1 0 X

Fd I, 72 L FhE &, 7 L HH i
HERAHE6 0% AREHE200%
EOWEE, 6. 01m  &FofFM 27T A7 7L Hiz
HRALkEE 13 Vi Vil =P

ErKEEHES 20 0H
EHINEES THHEESE S 2 05H (EARFOR)
Bvz4d 104HM EARKDOR)
ERTHETETFE SM7H3H DEETLTTTE SMT7THE4H
BSREH FWE /ORIt 2 i EE LT 5, @7 N— FEOEAFEIFEEL RV,
QFMED E X (ZGL~700mLAN & T3, @FFE7TmUANE T3,
FHETY G SIrHEKRASE SLEMFE(6)23 635
(A E IR EYEG |2 aa B AL BEEARENFE 2N IEHN S [ i & hn

FAEREHE TN EORZIZELTETMATS% « TTHEI0%A T, 221,000 57N & L,
REFHEIIFEL A,

HERE o ERERE #1 890m
FE T AR /N #1250 0m
GHIVNARL % i B O A SR E R BEREE DR H 254 %)
fRET R AR #1160 0m

GREE &) JRE  fEE # 40 0m

HEARZ )=y 2 #) 875m



av 74— &Y VIO &R

DX | R () PFIX HiAM L Hbfl BB A e filifes

2 198.81 60.14 88,000 5,292,000 500,000 5,792,000
3 195.10 59.01 88,000 5,192,000 500,000 5,692,000
4 197.68 59.79 88,000 5,261,000 500,000 5,761,000
5 193.85 58.63 92,000 5,393,000 500,000 5,893,000
6 204.69 61.91 90,000 5,571,000 500,000 6,071,000
7 200.15 60.54 86,000 5,206,000 500,000 5,706,000
8 196.01 59.29 86,000 5,098,000 500,000 5,598,000
9 165.06 49.93 86,000 4,293,000 500,000 4,793,000
10 168.85 51.07 90,000 4,596,000 500,000 5,096,000

NEEIF I G EE EPER A T L3




Lt T s SETER L L
Lo ¢ SR T2,

= f

5;{? ;

ik
; f.l -“‘-If.’i/ le?"g

— N ; :
NS, g ) 4
- g
e );%)E% ) %’}‘1\_ g‘i&“;{ﬁ !
=+ 2{@55@ r..-" I I 'I_;J 3
T . /, - i

\ TR L T

.
_fg}&P% fﬁg%ﬁ;

i
et

[ ]

A

-

2%

5
J
=
apy
i

b4

T MSED - EERMECTEELTE
HEEH LS L CTRATSL

Y

Av7r—kgIv
IO




